
E
R

S
A

T
Z

T
E

IL
E

 N
O

T
E

N
P

U
LT

E

10810.000.55 schwarz

EN
10810

10810 Notenpult

-5/04-

Position Bezeichnung Artikel-Nr. Stück

1 Fuß kpl. 6.10810.2.55 3
2 Distanzstück 03.22.522.55 3
3 Halbrundkopfniet ø 5 x 23 mm 03.61.363.00 3
4 Parkettschoner 03.20.125.55 3
5 Halbrundkopfniet ø 5 x 29 mm 03.61.370.00 3
6 Rohrkombination kpl. 6.10810.3.55 1
7 Druckfeder 03.15.455.00 1
8 Konusspannring 01.85.475.55 1
9 Dreher 02.41.994.55 1
10 Schloßschraube M5 x 30 mm 03.07.150.01 1
11 Schutzplättchen 03.22.634.55 1
12 Halbrundkopfniet ø 4 x 8,5 mm 03.61.177.00 2
13 Vierkantmutter M5 03.08.210.29 1
14 Schraube M5 x 12 mm 03.05.340.25 1
15 Halbrundkopfniet ø 5 x 13 mm 03.61.315.00 3
16 Klemmmutter M24 x 1,5 03.22.683.55 3
17 Klemmstück 03.22.473.55 1
18 Klemmstück 03.22.471.59 1
19 Klemmstück 03.22.469.61 1
20 Klemmmutter M5 03.22.682.55 1
21 Sichtfenster 03.22.533.00 1
22 Schriftfeldplättchen 03.77.950.00 1
23 Füllstück 03.22.532.55 1
24 Kopf kpl. 6.10810.1.55 1

1

2
3

4

5

6

8

7

9

11

12

14

15

16

16

16

17

18

19

20

22

21

23

24

13

10


